
 12.198 

1

ENG REF ONLY

NOTE:
MTG TEMPLATE, ITEM 4
FOR REFERENCE ONLY.
USE LOAD BANK UNIT
IN FIELD

A

B

3

2

2X

4

 14.734 

 11.000 

6

8 9

7

3REF

4 REF

2

8 7

3

REF

REF

8
5

DETAIL B
SCALE:  1 : 2

-SEE SHEET 2 FOR EXPLODED VIEW-

DETAIL A
SCALE:  1 : 2

FRONT-VIEWLEFT SIDE-VIEWREAR-VIEW

TOP-VIEW

ITEM 
NO. QTY Part Number DESCRIPTION

1 1 ASM-00007698 Wall Mount HMI Control

2 1 PRT-00026219 N.M.S Local Bracket

3 2 PRT-00026221 Cross Support Bracket

4 1 PRT-00026614 8x8 CB Mount Template

5 6 18105300 1/4-20x1.00" Hex Bolt

6 6 18103000 1/4-20x0.75" Hex Hd Bolt, Zinc Plated Steel

7 12 16203000 1/4-20 Kep Nut, Zinc Plated Steel

8 18 20420000 1/4" Flat Washer, Zinc Plated Steel

9 6 20715035 UL Sealing Bond Washer 0.250 SST

REVISIONSHEET NUMBER

DRAWING NUMBER

PART NUMBER

SHEET TITLE:

PROJECT

THE INFORMATION HEREON IS THE

PROPERTY OF SIMPLEX, INC., AND/OR

EXCEPT THAT FOR WHICH IT IS

TRANSMITTAL TO OTHERS AND USE 

PERMISSION ANY COPYING,

2013 SIMPLEX, INC.

ITS SUBSIDIARIES. WITHOUT WRITTEN

DA
TE

RE
V

R
E

V
IS

IO
N

S
  &

  U
P

D
A

TE
S

DE
SC

RI
PT

IO
N

ASM-00007911

21

Bom&Views

Or
igi

na
l R

ev
isi

on
12

/1
0/

20
13

A

8x8x4 Hoffman Enclosure

DWG-00009856

ALL RIGHTS RESERVED

SIMPLEX, INC.
5300 RISING MOON ROAD

SPRINGFIELD, ILLINOIS 62711-6228

A

DRAWN BY:

SCALE:

SHEET SIZE:

APPROVED BY:

B-SIZE

PWC

JLW

W.O. #:

11.07 lbsWEIGHT:

 

NA

LOANED IS PROHIBITED.

1:4

TOLERANCES
X.XXX  0.005"
X.XX  0.010"
X.X  0.020"

FRACTIONAL  1/32"
ANGLES  1

SURFACES             125

N.M.S. Bracket Assembly

PART DESCRIPTION

PART REVISION:

/

THIRD ANGLE PROJECTION

1234

2

B

A

34 1

PW
C

AP
PR

IN
T

JL
W

C

C

D

A

B

C

D



5

8

1

2

8 7
3

6

8

9

7

4

3

ISOMETRIC EXPLODED VIEW
SCALE: NONE

REVISIONSHEET NUMBER

DRAWING NUMBER

PART NUMBER

SHEET TITLE:

PROJECT

THE INFORMATION HEREON IS THE

PROPERTY OF SIMPLEX, INC., AND/OR

EXCEPT THAT FOR WHICH IT IS

TRANSMITTAL TO OTHERS AND USE 

PERMISSION ANY COPYING,

2013 SIMPLEX, INC.

ITS SUBSIDIARIES. WITHOUT WRITTEN

DA
TE

RE
V

R
E

V
IS

IO
N

S
  &

  U
P

D
A

TE
S

DE
SC

RI
PT

IO
N

ASM-00007911

22

Exploded View

Or
igi

na
l R

ev
isi

on
12

/1
0/

20
13

A

8x8x4 Hoffman Enclosure

DWG-00009856

ALL RIGHTS RESERVED

SIMPLEX, INC.
5300 RISING MOON ROAD

SPRINGFIELD, ILLINOIS 62711-6228

A

DRAWN BY:

SCALE:

SHEET SIZE:

APPROVED BY:

B-SIZE

PWC

JLW

W.O. #:

11.07 lbsWEIGHT:

 

NA

LOANED IS PROHIBITED.

1:4

TOLERANCES
X.XXX  0.005"
X.XX  0.010"
X.X  0.020"

FRACTIONAL  1/32"
ANGLES  1

SURFACES             125

N.M.S. Bracket Assembly

PART DESCRIPTION

PART REVISION:

/

THIRD ANGLE PROJECTION

1234

2

B

A

34 1

PW
C

AP
PR

IN
T

JL
W

C

C

D

A

B

C

D


	Bom&Views
	Drawing View1
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Detail View A (1 : 2)
	Detail View B (1 : 2)

	Exploded View
	Drawing View8


